Math 153 - Quiz 7 Name ke&
October 2, 2018 Score

Show all work to receive full credit. Supply explanations when necessary. This quiz is worth
9 points. YOU MUST WORK INDIVIDUALLY.

1. (2 points) The tallest living man is Sultan Kosen, who has a height of 251 cm. The
shortest living man is Chandra Bahadur Dangi, who has a height of 54.6 cm. Assuming
men’s heights have mean 174.12 ¢m and standard ‘deviation 7.10cm, compute the z-
scores for the tallest and shortest 'man. Whose height is more extreme?
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2. (3 points) The following are some data speeds (Mbps) from Sprint collected at various
airports. (The data are arranged in ascending order.)

02 03 03 03 03 03 03 04 04 04
05 05 05 05 05 06 06 07 08 1.0
1.1 1.1 12 12 16 16 21 21 23 24
25 27 27 27 32 34 36 38 40 4.0
2.0 56 82 9.6 106 13.0 141 151 152 304"

(a) Find the percentile corresponding to 2.7 Mbps.
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(b) What data speed is at the 85th percentile?
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(c) What data speed is at the 50th percentile?
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